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Group Statistics

social N Mean Std. Deviation | Std. Error Mean
measure stable 14 .3871 .12694 .03393
unstable 14 .5436 .20102 .05373

Independent Samples Test
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Levene's Test
for Equality of -0.156t-test for Equality of Means
Variances
95% Confidence
Interval of the
Sig. Mean | Std. Error Difference
F Sig. t df |(2-tailed)|Difference|Difference| Lower | Upper
measure Equal variances 3.095| .090|-2.462 26 .021 -0.156 0.064| -0.287| -0.026
assumed
Equal variances -2.462(21.946 .022 -0.156 0.064| -0.288| -0.025
not assumed
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(At =-2.462 (B)Mean Difference0.156
(C)Sig. (2-tailed) .022 (D)F = 3.095
Univariate Tests
Dependent Variable:measure
Partial Eta
Sum of Squares df Mean Square F Sig. Squared
Contrast A71 1 71 6.061 .021 .189
Error .735 26 .028

This test is based on the linearly independent pairwise comparisons among the estimated marginal
means.
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(RF it v § 19-2348)
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F e 177,88, 77,90, 68, 74, 62, 93, 82, T8, =79.00, §* =94.44
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(R ERAET § 24-254)
B 2t4 (SODIUM) 04 = & % £ i B ¥ chicig/& (BP; mm Hg 7111 2 SPSS
AR a 34 e (n=10) -

SODIUM BP

[
1 6.8 154
2 7.0 167
3 6.9 162
4 7.2 175
5 7.3 190
6 7.0 158
7 7.0 166
8 7.5 195
9 7.3 189
10 7.1 186
Coefficients®
Standardized
Unstandardized Coefficients Coefficients
Model B Std. Error Beta t Sig.
1 (Constant) -280.910 68.541 -4.098 .003
sodium 64.010 9.636 .920 6.643 .000

a. Dependent Variable: bp
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